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: Attempt all questlons All questlons carry equal marks
Use of sunple calculator 1s allowed. Worklngs form part

of your answer.
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(a) . What is meant by management. accounting ?
Discuss its objectives.

(i) Expléin thie distinction between cost control and

Cost' reduction. | g
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(b) Attempt the following (working- notes shoyjg fo

of the ansWer) : ‘ | by

() Total fixed cost ¥ 12,000; Contribution ¢ ,
2
h
Number of units sold 10,000; Variable coty, |
of sales Determine sellmg price per upjt .

. the total profits/loss.

(if) Total fixed cost T 12,000. Actual sales ¥ 45,
" Margin of safety % §,000. Determine By o

(i) A company which has a margin of safety ,
3 4 lakhs,_mékes a proﬁi of T 80,000, Its fixeq
is ¥ 5 lakhs. Find the break-even g

volume,
() 0 Wé@mﬁwmgam
S @ e AR
(@) @ FRE AR e § wH P
3 ml |
() Frefefan = v Hr (asre:fqmw
fean %) K
O F& R @@ 2 12,000, SHEH ? 0l
'ﬁﬂgmaﬂm 10,000; T
A o 60 ¥1 wfy g R
T et e fwior #C |
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2 48,000, &N ﬁm%soomva
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280,000 T A FARK T TR feR @
RER WWWWW
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(@) What is meant by margm of safety and angle of

mcldence ? Show these on a break-even chart 6

(b). There are two factories under the same management. -

Tt is desired to merge these two factories. The following

information is available :

- Factory A~ | Factory B
‘;-(_.'Japacity operation 100% 60%
Csales % 300 l-ak_hs.‘ %120 lakhs
Variable Costl | ? 220 lakhs 2 90 lakhs
Fixed Cost l | T 40 lakhs ¥ 20 lakhs
Caléulate :

() The capacity of the merged pl"ant for the purpose

of breaking-even and

(i) - The profit on working at 75% of the merged
' 9
capacity.

P.TO.
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" costing report lower profits,

®

'ﬁmam

| proﬁts Explam with examples.
" The following are the estimated sales of X Co _

April 2018 — 12,000 units
May 2018 RER, — . 13,000 units
June 2018 . 0 — 9,000 units
uly 2018~ = 8,000 units
August 2018 10,000 units
' September 2018 _ ' 12,000 wits 4
October 2018 T 14,000 unis
November 2018 e 12,000 Uﬂﬂs

6

mﬁlﬁﬁﬂ
0] W—Wﬁmﬁmmm
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iy o @ W?r‘»‘ﬁ%mmmq;

Compared with absorptlon costmg, when will vai
hxgher proﬁts and

for eight months ending 30- 10-2018 :
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- As a matter of policy, the company maintains the closin'g- ,
palance of finished goods and raw materials 'asf
follows : |
0 Finished goods—closing stock of a month will be

50% of the estimated sales for the next months.
(ff) Raw material—closing stock of a month will be |
equal to estimated consumption for the next month,
Each unit of production’ consumes 2 _kg of raw material
costing ¥ 6 per kg. Prepare the fo'll'owing budgets for
the half year ending 30-09-2018 : '
(i) Prodﬁction budget (month-wise in units).
(i) Raw material purchése budget (month-wise in units
and cost). ' 10
(-a)amﬂﬂruramﬁﬁmqwﬁ Fa IRETE
A w9 N, IS99 @M SR WAM WM W
| fad w2 S Gfed W i
() 30-0-2018 F FAE T TA IS WA F 1
X wEE @ Wfﬁ“ feret fretfefem ¥ -

o 2018 12,000 FEHTEA
_ ‘q'g 2018  iunle . 13,000 W‘i‘ﬁ
S 2018 _ 9,000 Tl
T 2018 Lt 8,000 FPTEAl
ST 2018 | 110,000 el
RN o0TH 12,000 TRTEAN
STRIER 2018 14,000 TN
AR 2018 12,000 FHEN

PTO.
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“Flexible budgets are more realistic and useful han

qugets.’_" Do you agree ? Explain.

4
“:
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| co. can produce 4,000 ynite -
. A (= ki units of a prodyet at 100y,
capaclty._The fo!lowmg information is available °
. , € lrom jts

records :

April May

Units produced-_' | 280 -
B 2

Power. 1,306 2,000
Repairs and maintenancé‘\ | 500 560
Indirect la;boﬁr' s L 700 00

ansuméble stores Ib 1,400 1,800
Inspector o om0 240

Depreciation . 1,400 1,400
Salaries . . - '_ i 'LOIOO 1,000

Direct Imate'ria_l-' cost per unit is T 1 and direct Wages
per hour is 4. Rate of production per hour is 10 units.
at 100%, 80%
fixed and

10

E Prepare the flexible budget for production
| and 60% capacity levels showing variable;

semi-variable items.

(#1) o e Freif T

_ el

Hifu |

\
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ﬂmmﬁ%= :
el @1 S TR 2800 3600

" 7

L
e iR T@-TE 00 s
Fgas M | 700.,', U
mﬁw%ﬂ 1,400 1,800
AT R S0 24
T S 1400
L 10000 10

(@)

_wﬁrmmammzl%aﬂtm

@ Activity Ragi,

9 YEE WGH 2 4 %1 R wer Semd @
T 10 TR B1 100%, 80% AT 60% & N
T I & U oeien awe gfadda, fR
@ﬂﬁ—qﬁaﬂ?ﬁzﬁaﬁﬁ@%@mﬁm'

B
riefly describe the following Control Ratios : ’

(i) Capacity Ratio
(i) Eﬂicie_ncy Ratjg
() Calendg, Ratig
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~ from the -fol-lowing';informatidn e ies
® calculate 9 ’
0 Total Salt_es.Value Variance ,
| (i) Sales Plfice Variance
, (iif) Sales Volume Variance'
(v) Sales Mix Vaﬁan?e
) Sales Quantity '\-"al'ia'nce |
. Standh_rd'. I‘ Actual
. ~ Units Rﬂte _ﬁnité Rate
3 ' -2 ' : | . R C g
Product A 5000 5 .
P B 000 g 5000 s
Product_'c | 30007 4000 8

() Pratefe i s o 90§ o

. PTO.
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(6)

3 3
IR A 500 5 000 ¢
TR B A0 6 S0 s
SR C 300 7 4000 g

~ costing and budgetary control. .

-(,,) ﬁm Frd ﬁrﬂ?ﬂ

(m)ﬁﬁqum
@) et fasm fmma
) fapt AEn fear

"or/(aman_)_ |

What is standard costing ? Di'sti-nguish between standard

Standard hours for producing two products A and B

are 15 hours and 20 hours per unit respectively. Both

products require identical type of labour and the
standard wage rate is T 5 per hour. In a’-year 10,000
units of A and 15,000 units of B weré produced. The
total labour hours actually worked were 4,50,500 and §
actual wage bill came to ¥ 23,00,000, This included 12007
hours paid for at ¥ 7 per "hour and 9400 hours Pa'd
for @ ¥ 7.50 per hour, the balance having been paid
at ¥ 5 per hour. Compute Labour Cost Variance, Labou" 8
Rate Variance and Labour Efficiency Variance.
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0 From th‘" foilpwing.in-fonnatio?, compute Fixed Overheag
Cost variance, Expenditure Variance and Volume Variance
Normal capacity is 5000 hours, Budgeted ﬁxed overheac;
rate is T 10 per standard hour, Actya] level of capacity
.utilized is 4’.400 standard hours. Actya] fixed overheads
# 52,000. Also, verify your resylt. s
() T W TR 7 A A o g
fpEor 4 AR amT| |
(@) R A IR BH IEwRA * o T 9
HARI: 15 2 3 20 W wfy T ¥ Sl
B A YER F AW R evasar w3
aﬂt'wﬁﬁqaﬁ;ﬁazsuﬁrﬁa%l@ad
q A Wl 10,000 R B H 15,000 SHA w5y Eiice
fFa ) A A owm oW A ww s
T 4,50,500 9 IR AR Fo et 2 23,00,000
AT 7 9 oHe B femm @ 12,000
U H WM R 9,400 W @ TR 2 7.50
W S qH W woyEE 25 W o S e
- W T o s wre e, s e
9 I gHar e w aftomr st
(W) trfafen smem @ afiad! Saft@rm fir,
ST firrar qon o fera @ oA SR
WHI &7 5,000 S ¥, e sTqfiad Sy
X210 9fT AR 5 ¥ STEM F I Al &
P AR W) 4,400 AAF HS §| Arwataw
St sufter ¢ s2,000 ¥1 oo wRom o
e wifeg) O

P.T.O.

-
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- : “are extracted from the
* The following particulars ar _ "®Corg, o,
i *-"""'“ . Product A “
~ Particulars Prg d“(:th
Sales (;;er unit) . ? 100 | ', ™
Consumption of material 2 kgl ¥ 3 ’
Material Cost | A% -
Direct wage cost '; ? 15 % i
Direct cxpefises 4 5 | i
Machine hO_l.ll'S' used o 3 Hours 2 i
Overhead expenses : | | )
Fix-ed. | %9 - + 10
Vifidble - R R S i

—_—

Direct wage rate per hour is ¥ 5. | !

(a)

()

- . |
Comment on the profitability of each product (Both use
the same raw material) when : - :

() Total sales potential in units is limited

.

(i) Total sales potential in value is’ limited

(idi) Raw material is in short supply and

v
() Production capamty (in terms of machine hours)
is the llmltmg factor

Assummg

raw Materia| ag the key-

e bo 000 kg and maxigmym
cing 3,500
Wlll ylEId the oy Ul‘llts ﬁnd the product mix ‘Wthh

Um profit, 1

factor, availability of

sales potential of each ‘
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(b)

“market ca

. output). It is al

( 14 )

forgent SUCTeHl 10,000 BT ¥ R wg N
=t sfeped Tt & 3,5003@3‘%,3{?3%
ﬁmﬁm-aﬁm@.mmm%

Or/(3TeTE) Ty

What do you mean by relevant costs and g
e\ra“
t

g ? Give examples,

cost in decision-makin
§

annually'manufﬁcturcs 10,000 units of.a Prod
Uct

X Ltd.
‘at a cost of T 4 per unit and sells these in the boug
_ : _ |
market at a selling price of < 4.25 per unit. In the p |
. | | a
year, there is fall in demand in home market which c,
absorb 10,000 units only at price of ¥ 3.72 per unjt
The total cost of 10,000 units is as follows :
Materials Z 15,000 1
Wages Z 11,000 |
Fixed overhead Z 8,000
Z 6,000

Variable overhead
found that this

product at @

the compan

plant capacity. to produce additional.
"
so discovered that fixed overheads W

increase by 10% for additional output above

output of 10,000 units. Is it worthwhile tO try p

gn market is explored and it is
n consume 20,000 -units of, the

3,55 per unit. (Assume _that'

The forei

price of

has sufficient

initie

the foreign market ? Give reasons.

-
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)
. Preparé o cash budget for four months [ ding ﬁn'ﬁ
. 2018'on"the basis of the foil'owinginfow:
30 .lncome and expenditure forecasts : |
I.“Dnths Sales | Purchases vWages Other p,
4 3 < :
July 60,000 | 40000 | 8000 900
: August | 90,000 60!@ ]0’500_ 8,850
Sept'emberl 75,000 50,000 17,500 | 8,000 F
October | 90000 | 60,000 17,100 780
November | 105000 70000 | 12000 730
December% 1,20,000 '_lso,ooo " 1200 [ 70

@) Cash balance on Ist September T 47,000.

(3) It is expected that 50% of the sales will be i

and 25% of the purchases will be made On
@) 75% of the credit sales is realized one month aftl”®

sales, 20% of the credit sales is realized W0

after the gg)eg and the balance is bad debt
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3 70% of the credit purchases is paid after ope month

and remaining 30% is paid after two moﬁths of f:urchase
© Wages are paid on 3rd day of every month,
) Other expenses include a depreciation of % 2,000 p.m,

®) Commission @ 5% on the total sales payable after ore

month is not included in' the other expenses.

©) Mach.inery is purchased @ X 60,000 and payment is

to’ be made in September.

(10 A 1divid.e-nd on im;restments of T 10,250 to be received
in Novcmbér._

(11) - The Icomp_axiy. .has'-IO% Debentures 'Iof Z 1,00,000. The
interest is\ payable -quar.terly‘in- March, IJune, Seﬁtembcr
-':Imd hDecembelr_.

(12) In ca;c of 'deﬁcit_ in éash. in any month, the company

- can arrange an overdraft from the bank for that month

v B ible
and such overdraft is to be repaid as early as POSSt
' uent month. Ignore

15

_out of the surplus cash of the subseq
the interest on the overdraft. |
| i PTO.
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_ AT nsibility accoun'ting.
(@ Define and explain Te5P7 Mt b,
: 3 n responSlblllty aceo
quisites for introduci g Untjp gln‘
i company T : l
di noteS - any three of the following . ]
(b) ri ; ;

() Transfer Pricing;
‘(;'i)' Zero Base degeting;

.(m‘) Proﬁt Centre and Cost Centre;

(iv) Non-cost Factors for taking Make or By

‘Degcisions. - _

;a)mﬁﬁa@ﬁﬁqﬁqﬁﬁﬁm@ﬂﬂ{
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